
CHAPTER 2

Populations under discussion

Multiple Choice Questions

1. People who have opportunities to gain wealth, power, and prestige can make better choices. Sociologists refer to these opportunities as ________.
a) meritocracy

b) life chances

c) appearance norms

d) agency

e) social class

Ans: b
Section: Introduction
2. ________ refers to how much difficulty a person has satisfying their daily survival needs.
a) Absolute poverty
b) High-income ceiling

c) Market-basket measure

d) Median income

e) Relative poverty

Ans: a
Section: Low-Income People in Canada
3. ________, which measures low income in Canada, calculates how much income a household requires to meets its needs. 
a) Low income cut-off
b) High income cut-off

c) Market-basket measure

d) Relative poverty measure

e) Low income measure

Ans: c 
Section: Low-Income People in Canada
4. Which of the following statements regarding measures of low income is INCORRECT?
a) The market-basket measure is considered as “Canada’s official poverty line.”
b) The market-basket measure, low-income measure, and low-income cut-off are all measures of poverty.
c) The rate for the market-basket measure falls in the middle of the low-income measure and the low-income cut-off.
d) Different measures of low income result in slightly different estimates of the number of Canadians experiencing poverty.
e) The market-basket measure suggests that Canada is moving toward a relative measure of poverty.
Ans: e

Section: Low-Income People in Canada
5. A researcher who wants to study the experience and effects of living on a low income would find their largest sample in ________.
a) rural areas

b) coastal areas

c) areas where farming is the main industry

d) industrial areas

e) large and small cities

Ans: e
Section: Low-Income People in Canada
6. The text uses the term ________ instead of “visible minorities,” since it implies a process rather than a state of being.
a) “visible people”
b) “race”
c) “racialized people”
d) “athletes”
e) “ethnic groups”
Ans: c
Section: Racialized People in Canada
7. The results of the 2016 Census reveal that roughly ________ per cent of the total population in Canada identifies as belonging to a “visible minority group.”

a) .15

b) 7

c) 22.3
d) 31

e) 53.6
Ans: c

Section: Racialized People in Canada
8. ________ is a term used to describe how something has meaning only because it is made up or seen as such—it is not real (or biological) in nature.
a) Racialization
b) Visible minority
c) Biological uncertainty
d) Social construction
e) Shadism
Ans: d
Section: Racialized People in Canada
9. Employment in a job requiring less education and preparation than an individual has gained is known as ________.
a) a “settling” job
b) under-hiring 
c) underemployment

d) virtual unemployment

e) over-hiring
Ans: c
Section: Young People in Canada
10. ________ refers to the overrepresentation of women among the poor people of the world.
a) Occupational disadvantage

b) Marginalization

c) Prioritization of part-time employment 

d) Feminization of poverty

e) Masculinization of wealth

Ans: d
Section: Women in Canada
11. A number of factors have been identified as significant in the feminization of poverty. Of the following statements, this one is FALSE: ________.
a) Many women are in low-wage occupations that don’t provide enough income to survive
b) More married women are now dependent on their husband’s income

c) Indigenous women earn much less than their male counterparts

d) Migrant women dominate in certain sectors of employment that are vulnerable to low wages and exploitation

e) Senior women have a lower median income when compared to senior men
Ans: b

Section: Women in Canada
12. All of the following statements regarding teenage pregnancy are true EXCEPT for: ________
a) Teen mothers are more prone to joblessness and poverty
b) Teen mothers have more challenges in completing an education
c) Preventing pregnancy is typically considered a woman’s responsibility  
d) Women mainly feel the results of unwanted pregnancy, such as abortions or single parenthood
e) Teenage pregnancy rates are increasing in Canada
Ans: e
Section: Women in Canada 
13. Senescence refers to the ________.
a) physical decline of seniors as they age

b) natural decline of physical and mental abilities during the aging process

c) loss of mental capabilities 

d) loss of mobility

e) loss of the ability to sleep

Ans: b
Section: Seniors in Canada
14. Seniors living independently may need adult children for informal supports, although those adults still have children at home. When this occurs, sociologists refer to the adult children as the ________ generation.
a) double-duty
b) multi-tasking 

c) sandwich 

d) over-burdened

e) forgotten 

Ans: c
Section: Seniors in Canada
15. People who experience high social inequality over their life course are more likely to ________.
a) experience a better lifestyle in old age

b) gain a great deal from pension income after 65 years old
c) experience better health in old age

d) have a higher likelihood of disability in old age

e) live at home when they are older
Ans: d 
Section: Seniors in Canada
16. Canada offers specific categories under which immigrants may enter and gain permanent residence: ________.
a) They have needed experiences
b) They have a large amount of money saved to bring with them
c) They are entering Canada to make a better life for themselves and their children
d) They have been sponsored by a private organization
e) They are refugees, economic immigrants, or family class immigrants
Ans: e
Section: Immigrants in Canada

17. ________ refers to immigrants who are sponsored by close relatives living in Canada. 

a) Family class

b) Sponsored immigrants

c) Economic class

d) Refugee class

e) Association immigrants 
Ans: a

Section: Immigrants in Canada
18. Which of the following statements regarding the importance of immigration for Canada is INCORRECT?
a) Canada benefits from immigration since it is a low-fertility society. 
b) Immigration keeps the Canadian population from disappearing.
c) Immigration gives Canada a “brain drain.”
d) Immigration keeps the Canadian population from aging too quickly.
e) Immigration provides tax revenues to support the dependent senior population.
Ans: c
Section: Immigrants in Canada
19. The Canadian government actively encourages young immigrants because ________.
a) it has an aging population and needs immigrants to increase the working population
b) it needs their energy

c) it has too many workers with low levels of education 

d) immigrants are less likely to experience discrimination than native born Canadians

e) immigrants contribute to social productivity
Ans: a
Section: Immigrants in Canada
20. According to the text, children aged 14 and under make up ________ per cent of the Indigenous population in Canada. 

a) 26.8
b) 4
c) 50
d) 30.4
e) 37

Ans: a

Section: Indigenous People in Canada


21. The term Indigenous Peoples is used by the Government of Canada to refer to ________.
a) Inuit populations internationally

b) specific groups in Canada

c) urban people who claim to be First Nations

d) registered Indians and Métis

e) First Nations, Métis, and Inuit populations 
Ans: e
Section: Indigenous Peoples in Canada
22. “Registered Indians” are ________.
a) Indigenous Peoples registered with the Canadian Government and entitled to some specific rights and benefits

b) First Nations people registered with the Canadian Government and entitled to some specific rights and benefits
c) all Indigenous Peoples in Canada

d) all First Nations and Metis people listed as living on their reservations 

e) all Indigenous Peoples worldwide
Ans: a 
Section: Indigenous Peoples in Canada
23. People sometimes believe that the Indian Act recognized a genetically or biologically inherited Indigenous ancestry. However, prior to 1985, ________.
a) residential school students lost their status
b) men and women would lose official status for marrying non-Indians

c) women, but not men, would lose official status for marrying non-Indians

d) men, but not women, would lose official status for marrying non-Indians
e) Indigenous children had to be “voted in”
Ans: c
Section: Indigenous Peoples in Canada
24. According to the text, ________ are Canada’s most vulnerable population in every dimension. 
a) seniors
b) women
c) Indigenous Peoples
d) racialized groups

e) immigrants

Ans: c
Section: Indigenous Peoples in Canada
25. According to the text, LGBTQ+ high school students in Canada are ________.
a) less likely to be bullied than other students
b) more likely to be verbally, physically, and personally harassed in school

c) unlikely to be physically harassed

d) less likely than other students to feel unsafe at school 
e) unable to legally marry

Ans: b 
Section: LGBTQ+ People in Canada
26. ________ is the societal assumption that all people are by default heterosexual and that heterosexuality is the normal state of being.
a) Heterosexuality
b) Heterophile
c) Heteronormativity 
d) Heterogamy
e) Heteronomy
Ans: c

Section: LGBTQ+ People in Canada

27. ________ refers to people who don’t feel a part of heteronormative society and reject the broad classifications of other terms.

a) Transitioning 

b) Bisexual 

c) Transsexual

d) Queer 

e) Transgender

Ans: d
Section: LGBTQ+ People in Canada

28. When a long-term condition or health-related problem causes difficulty to a person trying to carry out familiar tasks, they are categorized as having ________.
a) a need for additional care and support

b) senescence

c) a disability

d) an intellectual challenge

e) participant limitations

Ans: c

Section: People with Disabilities in Canada
29. According to the Canadian Survey on Disability, all of the following EXCEPT for ________ are types of disabilities.
a) pain
b) inadequate housing
c) agility 
d) mobility
e) learning
Ans: b

Section: People with Disabilities in Canada
30. In the 1960s, the ________ advocated for the respect, full citizenship, and inclusion of disabled people in society. 
a) disability rights movement
b) War Amps
c) UN Charter

d) World Health Organization
e) country life movement
Ans: a

Section: People with Disabilities in Canada
True or False Questions
1. “Agency” refers to an individual’s ability to make choices. 
Ans: True
Section: Introduction
2. Poverty and inequality can be used interchangeably since one cannot be rich and experience inequality.
Ans: False
Section: Low-Income People in Canada
3. The market-basket measure calculates how much income a household requires to meet its needs. These include subsistence needs (such as basic food and shelter) and the needs to satisfy community norms. 
Ans: True
Section: Low-Income People in Canada
4. Official statistics on poverty, when gathered using different measures, generally all produce the same results.
Ans: False
Section: Low-Income People in Canada
5. Only a small percentage of Canadians will experience poverty in their lifetime.
Ans: False
Section: Low-Income People in Canada
6. Sociologists argue that racial categories are socially constructed in order to explain and justify inequality.
Ans: True
Section: Racialized People in Canada
7. Racialized groups are more likely to live in poverty, and according to the 2016 Census, most are clustered in the metropolitan areas of Canada.

Ans: True
Section: Racialized People in Canada
8. Occupational disadvantages are now a thing of the past as women generally earn the same amount as their male counterparts. 
Ans: False
Section: Women in Canada
9. Teenage pregnancy is a problem for women in Canada, who are expected to take all responsibility for both the prevention and the consequences of pregnancy. 
Ans: True
Section: Women in Canada
10. The sandwich generation refers to middle-aged adults who are caring for both elderly parents and for their own young children.
Ans: True
Section: Seniors in Canada
11. Statistics Canada shows that between 4 and 10 per cent of elders suffer abuse.
Ans: True
Section: Seniors in Canada
12. The 2016 Census results show that over 40 per cent of the Canadian population is made up of immigrants.
Ans: False
Section: Immigrants in Canada
13. The International Mobility Program lets employers hire temporary workers without a Labour Market Impact Assessment.
Ans: True

Section: Immigrants in Canada
14. In Canada, the umbrella term “Indigenous” comprises three different sub-populations: First Nations, Métis, and Inuit.
Ans: True
Section: Indigenous Peoples in Canada
15. Inuit Nunangat stretches right across northern Canada and includes many different languages and cultural practices among the 53 Inuit communities there.

Ans: True

Section: Indigenous Peoples in Canada
16. Until 1960, any Registered Indian who wished to vote in a federal election had to abandon their Indian status.
Ans: True
Section: Indigenous Peoples in Canada
17. More Canadians self-identify as LGBTQ+ today than they did in the past.
Ans: True
Section: LGBTQ+ People in Canada
18. Lesbians and bisexual women have higher rates of cancer than heterosexual women do.

Ans: True

Section: LGBTQ+ People in Canada
19. The Canadian Survey on Disability identifies 10 types of disabilities: pain, mobility, agility, hearing, seeing, learning, psychological, memory, speech, and developmental. 
Ans: True
Section: People with Disabilities in Canada
20. Persons living with a disability have a higher than average risk of living in poverty, and this is affected by the type of disability.
Ans: True

Section: People with Disabilities in Canada 
Short Answer Questions

1. The life experiences of poor people in a rich country are worse than the experiences of poor people in a poor country. Briefly explain.
Ans: Poor people living in a poor country experience less inequality. Since people in a poor country are all poor, they are more likely to assist each other in surviving than occurs in a rich country. Poor people in a rich country experience greater inequality, which translates into marginality and oppression.
Section: Low-Income People in Canada
2. The text discusses the 2008 recession in Canada. People who were financially vulnerable before the recession were the most negatively affected. Briefly explain why this was the case.

Ans: During the recession, the cost of living—including the cost of rental housing and food prices—rose at the same time as unemployment rates increased. In fact, some items increased in cost more than 20 per cent. People had to spend more on necessities at the same time as they were earning less.
Section: Low-Income People in Canada
3. What are the causes and consequences of youth underemployment and unemployment?
Ans: Job availability is shrinking due to factors such as technology, more short-term employment, and an information-based economy. Young people need more credentials, making post-secondary education more important, but it is increasingly expensive. Students are more likely to live at home for longer and to take on student loans. What was considered adulthood—a full time job, independence, marriage, one’s own home—now has to wait until the young adult is older.
Section: Young People in Canada
4. What does the feminization of poverty mean?
Ans: The feminization of poverty refers to the overrepresentation of women among the poor. High rates of female poverty are the result of women’s occupational disadvantage in society and their overall subordinate position to men.
Section: Women in Canada
5. Describe the three main categories available to immigrants and refugees hoping to enter Canada and become citizens. 
Ans: The three main categories are economic immigrants, family class immigrants, and refugees. Economic immigrants are those needed for their specific skills and experiences in the workforce. Family class refers to those who are sponsored by close relatives already living in Canada. Refugees are those who are escaping persecution in their home country. Family class immigrants and refugees may or may not have skills and experiences to contribute to the economy.
Section: Immigrants in Canada
6. Describe one way in which colonial attitudes and government actions have impacted Indigenous Peoples. 

Ans: An urgent social issue is the continued disappearance and murder of Indigenous women and girls in Canada. The RCMP state that over 1,000 Indigenous women have disappeared or been murdered since 1980. Moreover, these murders are solved at a significantly lower rate than those of non-Indigenous women. Progress is especially slow if the victim was involved in the sex trade or associated with illegal activities.
Section: Indigenous Peoples in Canada
7. In what ways have attitudes toward LGBTQ+ individuals changed in Canada?

Ans: Although bullying continues, attitudes toward LGBTQ+ have become more positive. Same-sex marriage is legal, leading to more gay and lesbian couples coming out. With greater visibility, there has been greater acceptance.
Section: LGBTQ+ People in Canada
8. Briefly discuss the claim made in at the end of Chapter 2, which states “…most Canadians today, one way or another, are vulnerable, disadvantaged, or even victimized.” 
Ans: Intersectionality refers to the fact that no one belongs to only one group or category. Given the possible permutations, sheer numbers alone would suggest many Canadians experience marginalization in at least one area of their lives. However, marginality is unstable. The instability of inequality does not mean all Canadians have the same chance of experiencing discrimination, but it does mean that many, if not most Canadians will experience it at some time in their lives.

Section: Closing Remarks
The Stacked Deck, 2e
© Oxford University Press Canada, 2021

